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General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TRt HeE U WSt @)
(Not for Profit Organizations & Partnership Accounts)
1. 9 iR M @ T RBRid & 6 1
(4) Sfie (B) wfee AY
(C) onf¥re a1 &l (D) Uit ff
Receipts and Payments Account generally shows :
(A) A Debit Balance (B) A Credit Balance
(C) Surplus or Deficit (D) Capital Fund
2. =1 & @ F-a1 Joier i & ¢ 1
(A) STSie FEE o (B) 3™
(C) == (D) =R | &=

Which of the following represent Capital Receipt ?
(A) Life Membership Subscription (B) Donation

(C) Subscription (D) Interest on Investment
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3. TEREN H BH § T Bl © 1
(A) @ (B) Tle &
(C) @il Tg Toie &l (D) UEH H
The relation of partner with the firm is that of :
(A) An owner (B) An Agent
(C) An owner and an Agent (D) Manager
4. HEEN §0@ S 1
() e B
(B) foRed & aifvemd B
(C) offard & &

(D) ST F & Fi3 T

Forming of Partnership Deed is :
(A) Mandatory

(B) Mandatory in writing

(C) Not mandatory

(D) None of the above

5. W HAJUq - 1
(A) AT STFHIT — G S (B) g STFHIT — 741 S
(C) U TN — o1 S ST (D) 9 WIS U — I ST
Sacrificing Ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio
(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio
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6. fHHl T4 WEER H wEE’ | B ST Ewd © 1

(A) Fpdl fl TF HEER @ HeEld @

(B) @EERI % SgAT &%l el 9

(C) &l QA WHERI H Fqewi q

(D) IO HEER % 2/3 Wl B HeAld |

A new partner may be admitted into partnership :

(A) with the consent of any one partner

(B) with the consent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3 of old partners

7. TR QAR 3 : 2 B G H @ dred 31 TS B 1/4 W BT AHER SR T

S STqAT R TR AT A1E’ W IUS-aNE] A YAl 81 AT A B 1
(A) 9:6:5 B) 19:11:10
(C) 3:3:2 D) 3:2:4

'X'and 'Y' are partners sharing profit in the ratio of 3 : 2. 'Z' was admitted with
1/4 share in profits which he acquire equally from 'X' and 'Y'. The new ratio

will be :
A) 9:6:5 (B) 19:11:10
(C) 3:3:2 (D) 3:2:4
8. IR AT EER TN P THH T AT &, A 3§ sel T 1
(A) T STYU H (B) YN N STIU H
(C) T T A § (D) Tt srguma #
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If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Sacrificing Ratio (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. HERER & FAHET FET A W T H A fheeb T @ F dise & e ? 1
(A) SR T&T FH I HEER B (B) 9 HERRI &
(C) &T BRI & (D) ST & | HF T

On retirement of a partner, goodwill will be credited to the Capital Account of :
(A) Retiring Partner (B) Remaining Partners

(C) All Partners (D) None of the above

10. O, ‘¥ F W 4:2: 1% TJUA 7 I Sled 5T UERER &1 A o7 & S TeoT B

W T g @ H TSI 3: 178, A AT AT ST RN 1
(A) 3:13 (B) 13:3
C) 3:1 (D) 12:5

'A', 'B' and 'C' are partners sharing profit in the ratio of 4 : 2 : 1. If the new
ratio of 'B' and 'C' is 3 : 1 on the retirement of 'A’, then what will be the gaining

ratio ?
(A) 3:13 (B) 13:3
€) 3:1 (D) 12:5
11. ¥EER @ OO @R 8 W #9-8 @0 O o 8 7 1
(A) Fa T @ (B) ¥aw =Y @R
(C) Tf @ Jar =g @w (D) ST I ofemar = @
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Which accounts are opened when the capital are fixed ?
(A) Only Capital Accounts

(B) Only Current Accounts

(C) Capital Accounts as well as Current Accounts

(D) Either Capital Accounts or Current Accounts

12, TEERI # $o W = Sfye fen st 1
(A) wH-g @ H
(B) W¥-BIY FHREISH & |
(C) = @ |
(D) Ui @ &

Interest on partner's capitals will be credited to :
(A) Profit and Loss Account

(B) Profit and Loss Appropriation Account

(C) Interest Account

(D) Partner's Capital Accounts

13. 1 ¥, 2019 H TF EER A B4 & T 50,000 H AR i @ TEed dqg 3

HE H 31-12-2019 H I AN FHART 1
(A) % 3,000 B) I
(C) 2,500 (D) % 1,800

On 1st March, 2019 a partner introduced in the firm additional capital of
% 50,000. In the absence of partnership deed, on 31st December, 2019 he will
receive interest :

(A) % 3,000 (B) zero

(C) %2,500 (D) 1,800
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14. R WEERI & ST & O 7 & g3 @1, f fhae @9 & ST I Sl o 7 1
(&) 1 9E
(B) 3 HE @l
(C) 6HE @l
(D) 12 78 &

If date of drawings of the partner's is not given in the question, interest is
charged for how much time ?

(A) 1 month
(B) 3 months
(C) 6 months

(D) 12 months

15. ‘T q ‘S qE-8 H T dfed 81 1 9B, 2010 ¥ ¥ -8 B 4 : 3 oU A
dfe T WeAd gU A fase § uReee & BRer A A Wi ofeEr @nt e
B 1

(A) @ R B) @ L
14 14
4 3

(C) s e - (D) & =

'A' and 'B' were partners sharing profits or losses equally. With effect from 1st
April, 2010 they agreed to share profit in the ratio of 4 : 3. Due to change in
profit sharing ratio, B's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain % (D) Sacrifice %
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16. T% %4 ZX H9Q T UBA 9 a8t & o9 Ud &Y 39 ¥R & ¢ ¥ 12,000; ¥ 13,000;
% 14,000; % 18,000 AR X 2,000 (M) & a¥ & HF % MUK G SN B Ted 8NN : 1
(A) T 23,600 (B) ¥ 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
The profits earned by a business over the last 5 years are as follows : ¥ 12,000;

% 13,000; % 14,000; X 18,000 and X 2,000 (loss). Based on 2 years purchase
of last 5 years profit, value of goodwill will be :

(A) R 23,600 (B) R 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
1 -9
PART - B
(® 9 @ ud i e & )
(Company Accounts & Analysis of Financial Statements)
17. T B B coovennns BT B 1
(A) TIF JuIE STRA™ (B) ¥R Siad
(C) Wiff i (D) S @f
A company has ............ .
(A) Separate legal entity (B) Perpetual existence
(C) Limited liability (D) All of the above
18. T HHI Hl FHIOT fam e @ 1
(A) dEs & faw sffEE g (B) & fAftEw &R
(C) faf e & (D) &&= 3
A company is created by :
(A) Special act of Parliament (B) Companies Act
(C) Investors (D) Members
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19. HHI % Toff B8 gEal o fawem o &, B e o ® ¢ 1
(A) RO (B) ST
(C) i (D) U8
Capital of a company is divided in units, which is called :
(A) Debenture (B) Share
(C) Stock (D) Bond
20. FA H Fived X | s e R s g ? 1
(A) GHaT SITERAT B (B) aiferepr Sfereniar
(C) ROTGAETRET I (D) SEcihl &
To whom dividend is given at a fixed rate in a company ?
(A) To Equity Shareholders (B) To Preference Shareholders
(C) To Debentureholders (D) To Promoters
21. dfe ot 7 @ ART B B 1
() ol (B) g I
(C) Tt d=& (D) A T N
Reserve Capital is a part of :
(A) Called up Capital (B) Paid up Capital
(C) Capital Reserve (D) Uncalled Capital
22. FE AUMEH & FPAR FAaH AR BN RN HA FEOHAT B freiRa ®T &
T¢ B )
(A) 25% (B) 50%
(C) 90% (D) 100%
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According to Companies Act, Minimum subscription has been fixed at ...........
of the issued amount.

(A) 25% B) 50%
(C) 90% (D) 100%
23. ROUGEEN B B .o B Bl 1
(A) @rl (B) I
(C) TR (D) s
Debentureholders are ............ of the Company.
(A) Owners (B) Customers
(C) Creditors (D) Promoters
24. FOH YERIT F 8 1

(A) A & BRI HT

(B) &HaT SAERAT & faf=T

(C) &l | Tl & K

(D) & & YR R

Debentures represent the :

(A) Long term borrowings of a Company
(B) Investments of Equity Shareholders
(C) Directors shares in a Company

(D) Short term borrowings of a Company
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25. FA & RO H FRIHG AT ST HERT © 1
(A) B B S (B) ¥ <Tehe S &
(C) Her® oy & &7 ¥ (D) STIH H15 A
Debentures of a company can be issued :
(A) For Cash (B) For consideration other than cash
(C) As a collateral security (D) Any of the above

26. FOE! & M T A B A @A H SEAART [bAT I & 7 1
() ot e (B) UMY G @
(C) RifT wus @ (D) qTH-B feReT

Profit on redemption of debentures is transferred to which account ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) Statement of Profit & Loss
27. T %vs @ & A9 A FERT HA © 1
(A) 3fFE W (B) #feT AW
(C) T 3f¥T 7 hise AW (D) Sfee I wigT 9w

Balance of Sinking Fund Account always shows :
(A) Debit Balance (B) Credit Balance

(C) Neither Debit nor Credit Balance (D) Either Debit or Credit Balance

28. FOOF M T WEEH ...ooeeeen. grar gl 1
(A)  FwRT (B) <R/
C) =1 (D) ™
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Premium on redemption of Debentures Account is :
(A) Asset (B) Liability

(C) Expenses (D) Income

29. W= ¥ § -1 9 GF & ?
() e Goft = Frfr o
(B) frpd Ioft > Frf G
(© T T > e ol
(D) ST F & Fi3 T
Which of the following statements is true ?
(A) Authorized Capital = Issued Capital
(B) Authorized Capital > Issued Capital
(C) Paid up Capital > Issued Capital
(D) None of the above
30. TH HFF &l AT Yol B S BN ©
(A) uNE Htag o (B) UNE STve® #
(C) SieareT (D) T SfeEer &
Authorised capital of a company is mentioned in :

(A) Memorandum of Association (B) Articles of Association

(C) Prospectus (D) Statement in lieu of prospectus
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AT -9
PART -C
(Fega wEi)

(Computerized Accounting)

17. JEHRRT ae fhe omeaR W fspied fhd o § ? 1
(A) AGT TR (B) @ uRurfes
(C) (A) 3R (B) Al (D) I & e o T

Accounting Packages are developed on the basis of :

(A) Accounting Concepts (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
18. JTHRIET Yaol fhe SR & HIFedaX © 7 1
(A) faEw gt (B) Uwiihe W)
(C) IR diweaay (D) SR
What type of software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
19. FYHA @l Yol & e & 1

(A) ST, RUE, @ 98, difea, seaa
(B) TR, BEAAT, I, Sl

(C) 3@, HIET, kAT, IF3ed, HRTYT
(D) W, SihaT, B, WtedaX
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The components of computerized accounting system are :
(A) Data, Report, Ledger, Software, Hardware

(B) Software, Hardware, People, Procedure

(C) Data, Coding, Procedure, Objective, Output

(D) People, Procedure, Hardware, Software

20. M FH T d TG S & FNHCT § B 1
(A) TERET, TS ofR At
(B) UoN, HafwEl, AT, o R @@
(C) TN, shEd, o SR 2
(D) oW, ITaIRAl, o o @
Grouping of Accounts means the classification of data from :
(A) Assets, Capital and Liabilities
(B) Capital, Assets, Liabilities, Revenue & Expenses
(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenue & Expenses

21. fqwa & g9 ¢ 1
(A) UHee e (B) 3T oiffse
(C) a1 ¥® (D) 2T dfce
Choose the odd one out :
(A) Password Security (B) Data Audit
(C) Data Bank (D) Data Vault

22. 3T A9 ST IAERH B TH ITHCT o (aa/om@) 1
Data analysis is a tool of data warehouse. (True/False)
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23. TUEE GOCHT H FAHH TOMG TG ToaH & 9% (ed e 31 (Vo)

In phased approach the current system is executed after the proposed system.

(True/False)

24. FAE ITNERA GRAMNT ST SR &l (T omaE) 1

Classes are user defined data types. (True/False)
25. Sffeige NG ST 1 & S 9BkdT TX SX Sl R (T oma) 1

Object Oriented programming emphasizes on procedure rather than on data.

(True/False)

26. Fr=faiad Rfftdl 4 @ o 84 § 3T &9 0 & Y W 78] [ar ST e @ 1

(A) T SR ol TEE (B) <F FHoll & &M

(C) ESC Fsit & (D) ST § § B el

Which of the following methods can not be used to enter data in a cell ?

(A) Pressing an arrow key (B) Pressing the tab key

(C) Pressing the ESC key (D) None of the above
27. FHSMC T 7 FrAfoRad & & dH-a1 0 IR #EA J@ o ¢ 1

(A) THgH T B (B) dhsic I G &

(C) IRT 3R ST S (D) aefic Bd HT

Which of the following is not a basic step in creating a worksheet ?

(A) Save workbook (B) Modify the worksheet

(C) Enter text and data (D) Copy the worksheet
28. @l § W . el & e © 1

(A) @ feq (B) &« feq

(C) a9 feu (D) 7 feu
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Comments put in cells are called :

(A) Smart tip (B) Cell tip
(C) Web tip (D) Soft tip
29. Th G & ST b THIH TF H T el © -

(A) WH (B) |6 g

(C) @ g (D) Sffedt &

Multiple calculations can be made in a single formula using :
(A) Standard formula (B) Array formula
(C) Smart formula (D) Complex formula

30. BRWEH T THhd € :

() T (B) FET TG

) = (D) IUUET Tl
Hyperlink can be :

(A) Text (B) Drawing objects
(C) Pictures (D) All of the above
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